Arithmetic: Paper &4

Question Marks Question Marks
1 | 83+236-= 1 19 | 3of750 = 1
2 | &L= 1 20 618 x 26 = 2
3 | 2x25= 1 21 25% of 1,800 = 1
4 | 762x0= 1 22 918 + 54 = 2
5 | 60+ 12-= 1 23 0.7 x 3 = 1
6 | 9x10x4 = 1 24 Tttt = 1
7 | 4,066 -305 = 1 25 | 14+ & = 1
8 | 20-42-= 1 26 7-6.067 = 2
9 | 27.96 +16.3 = 1 27 6.2 x 80 = 1
10 | ?-20 = 391 1 28 | 14 -1 - 1
11 | 250+ 5 = 1 29 5,629 x 82 = 2
12 | 7,200 + 6 = 1 30 98% of 250 = 1
13 | 100 + 20 = 1 31 L:4= 1
14 | ? =5,693 - 842 1 32 62 + (7+2) = 1
15 3,(;(14,6006 = 2,000,000 1 33 11 x50 - 1
16 | 10-7.1-= 1 34 76% of 480 = 1
17 | 24 - 1 35 | 4L-2+-= 1
18 | 0.06 + 10 = 1 36 7,008 + 96 = 2
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